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1. When a manager makes a choice under perfect rationality, she chooses a

decision, whereas under bounded rationality she chooses a decision.

A) minimizing; satisficing
B) satisficing; maximizing
C) maximizing; satisficing
D) maximizing; minimizing

2. In Michael Porter’s five forces model of competition, ~ is determined

by the height of barriers to entry, such as economies of scale and brand loyalty.
A) threat of substitutes
B) threat of new entrants
C) bargaining power of buyers
D) bargaining power of suppliers
3. According to Kurt Lewin, which is(are) not a stage(stages) in the change process?
A) refreezing
B) unfreezing
C) motivating
D) restraining
4. Which conditions favor more decentralization in decision-making?
A) Decisions are sighiﬁcant.
B) Environment is complex, uncertain.
C) Company is geographically dispersed.
D) Organization is facing a crisis.
5. Which is the probable sequence of creative process?
A) preparation, incubation, insight, verification
B) insight, preparation, incubation, verification

C) incubation, insight, preparation, verification

D) insight, incubation, preparation, verification
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6. In attribution theory, which factors influence our perception?
A) distinctiveness
B) dissonance
C) consensus
D) consistency

7. Under clan control, employee behaviors are regulated by

A) market share

B) shared values and norms

C) administrative rules and regulations
D) managerial autonomy

8. Mintzberg’s 10 management roles can be grouped into

A) information transfer, decision making, and resource allocation
B) interpersonal relationships, information transfer, and decision making
C) leadership, decision making, and planning
D) interpersonal relationships, leadership, and decision making
9. Which is(are) the correct pair(s) between the scholar and his(her) proposed theory?
A) Douglas McGregor — Theory X and Theory Y
B) Paul Hersey — LPC theory
C) Fred Fiedler— expectancy theory
D) Henri Fayol — bureaucracy
10. Which statement(s) about communication is(are) incorrect?
A) Filtering is the deliberate manipulation of information to make it appear more
favorable to the receiver.
B) Wheel type of network is that communications flow freely among all members of

the work team.
C) Information overload occurs when the information we’ve been given is too detailed.

D) Grapevine is an informal organizational communication network that is active in

almost every organization.
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